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Content

• Mix and Yield Variance

• Mix and Yield Variance for direct labour and material
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Mix/Yield for Direct Material/Labour

• Inputs can be classified into non-substitutable or substitutable input

• Non-substitutable means exact, no input variance

• The inputs are substitutable to some extent,like in the input to fruit
salad can be varied a little bit

• Mix and Yield variance are only related with substitutable inputs

mix refers to the relative proportion or combination of the different 
inputs used within an input category such as direct materials or direct 
manufacturing labour to produce a quantity of finished output

Yield refers to the quantity of finished output units produced from a 
budgeted or standard mix of inputs within an input category
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Direct Material/Labor Efficiency improvement

• Using less input to achieve a given output

• Using a cheaper mix to produce a given output

• The efficiency variance divided into the yield variances and the
mix variance

• Since it is about efficiency variance, always use budgeted rate
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Actual Spending
(actual quantity of inputs * 

acutal price of input)

Flexible Budget
(Budget rate * budgeted quantity 
of inputs allowed for actual 
output to achieved )

Total Flexible Budget variance

Price Variance =(Actual price of 
inputs − Budgeted price of inputs) 
× Actual quantity of inputs.

Intermediary Level 1
Actual quantity of inputs * 
budgeted price of inputs

Efficiency Variance =
(Actual quantity of inputs used − Budgeted quantity of 
inputs allowed for actual output) × Budgeted price of 
inputs

(Actual total quantity of all inputs used×
Actual input mix)× Budgeted prices

(Actual total quantity of all inputs used 
× Budgeted input mix) × Budgeted 
prices

Mix Variance Yield Variance

(Budgeted total quantity
of all inputs allowed for
actual output achieved
× Budgeted input mix)
× Budgeted prices

Mix/Yield Variance for Direct Material/Labour

Flexible Budget
= sum of each input’s budgeted quantity 
allowed for actual output to be 
achieved* budgeted price 
= sum of budgeted total inputs * 
budgeted mix* budgeted price 

Efficiency Variance for Direct Material/ Labour
= Flexible Budget – Intermediary Level 1  

Mix Variance
= Intermediary level 1 – intermediary level 2
= Sum of actual total quantity * ( actual 
input mix – budgeted input mix) * budgeted 
price  

Yield Variance
= Flexible Budget – Intermediary Level 2
= Sum of ( Actual total quantity – budgeted total 
quantity) * budgeted input mix * budgeted price  

Mix/Yield Variance for Direct Material/Labour

Intermediary Level 1 
= sum of each input’s actual 
quantity * budgeted input price
= sum of actual total quantity 
of inputs * actual input mix * 
budgeted price 

Intermediary Level 2
= sum of actual total quantity 
of inputs * budgeted input mix 
* budgeted price 
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